
Race Car (/problems/race-car/)

Status: Accepted
Submitted: 1 hour, 13 minutes ago

Submission Detail

53 / 53 test cases passed.

Runtime: 16 ms

Accepted Solutions Runtime Distribution

 

Zoom area by dragging across this chart

0 200 400 600 800 1000 1200 1400 1600
0

5

10

15

20

25

30

cpp

You are here!  
time beats 49.87 % of cpp submissions.

Runtime (ms)

D
is

tri
bu

tio
n 

(%
)

0 200 400 600 800 1000 1200 1400 1600
0

10

20

30

Invite friends to challenge Race Car

https://leetcode.com/problems/race-car/


Submitted Code: 1 hour, 13 minutes ago

Language: cpp   Edit Code  

Back to problem (/problems/race-car/)

Copyright © 2018 LeetCode
Contact Us (/support/)  |  FAQ (/faq/)  |  Terms (/terms/)  |  Privacy Policy (/privacy/) 

 United States (/region/)

#include <climits>

class Solution {
public:
    int racecar(int target) {
        
        int F[10000];
        for (int i = 0; i < 10000; i++) F[i] = INT_MAX;
        F[0] = 0;
        int N = (int)ceil(log2((double)(target + 1)));
        if ((1 << N) - 1 == target)
            return N;
        for (int i = 1; i <= target; i++) {
            int n = (int)ceil(log2((double)(i + 1)));
            if ((1 << n) - 1 == i) {
                F[i] = n;
            } else {
                for (int j = 1; j < n; j++) {
                    for (int k = 0; k < j; k++) {
                        int nstep = j + k + 2 + F[i - ((1 << j) - (1 << k))];
                        if (nstep < F[i])
                            F[i] = nstep;
                    }
                }
                int nstep = n + 1 + F[(1 << n) - 1 - i];
                if (nstep < F[i])
                    F[i] = nstep;
            }
        }
        return F[target];

    }
};
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